# Quartiles, Deciles and Percentiles

Data Science and A.I. Lecture Series

Bindeshwar Singh Kushwaha

PostNetwork Academy

◆□▶ ◆□▶ ◆三▶ ◆三▶ 三三 のへで

#### Website

PostNetwork Academy | www.postnetwork.co

# YouTube Channel

www.youtube.com/@postnetworkacademy

# PostNetwork Academy Facebook Page

www.facebook.com/postnetworkacademy

### LinkedIn

www.linkedin.com/company/postnetworkacademy

イロト 不良 トイヨト イヨト

◆□▶ ◆□▶ ◆ 臣▶ ◆ 臣▶ 三臣 - のへぐ

Xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3



◆□▶ ◆□▶ ◆ 臣▶ ◆ 臣▶ 三臣 - のへぐ

Xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3

◆□▶ ◆□▶ ◆ 臣▶ ◆ 臣▶ 三臣 - のへぐ

Xi	20	30	40	50	60	70	80
- f <sub>i</sub>	3	61	132	153	140	51	3

xi	f <sub>i</sub>	
20	3	
30	61	
40	132	
50	153	
60	140	
70	51	
80	3	

Xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3

xi	$f_i$	
20	3	
30	61	
40	132	
50	153	
60	140	
70	51	
80	3	
	N=543	

Xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	
30	61	
40	132	
50	153	
60	140	
70	51	
80	3	
	N=543	

Xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3

xi	$f_i$	C. F.
20	3	3
30	61	
40	132	
50	153	
60	140	
70	51	
80	3	
	N=543	

Xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	
50	153	
60	140	
70	51	
80	3	
	N=543	

Xi	20	30	40	50	60	70	80
- f <sub>i</sub>	3	61	132	153	140	51	3

Xi	$f_i$	C. F.
20	3	3
30	61	64
40	132	196
50	153	
60	140	
70	51	
80	3	
	N=543	

3/3

x	ï	20	30	40	50	60	70	80
f	i	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	
70	51	
80	3	
	N=543	

3/3

x	ï	20	30	40	50	60	70	80
f	i	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	
80	3	
	N=543	

From the fo	ollowing dat	a compute	the values	of quartiles.
-------------	--------------	-----------	------------	---------------

x	ï	20	30	40	50	60	70	80
f	i	3	61	132	153	140	51	3

Xi	$f_i$	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	
	N=543	

From the fo	ollowing dat	a compute	the values	of quartiles.
-------------	--------------	-----------	------------	---------------

Xi	20	30	40	50	60	70	80
f <sub>i</sub>	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Computing  $Q_1$ :

					50			
1	f <sub>i</sub>	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Computing 
$$Q_1$$
:  
We have,  
 $\frac{N}{4} = \frac{543}{4} = 135.75$ 

・ロト・日本・中国・ 中国・ ちゃん

Xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Computing  $Q_1$ : We have,  $\frac{N}{4} = \frac{543}{4} = 135.75$ Cumulative frequency just greater than 135 is 196, and the corresponding value of the variable is 40.

- \* ロ > \* 個 > \* 注 > \* 注 > - 注 - のへぐ

Xi	20	30	40	50	60	70	80
f <sub>i</sub>	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Computing  $Q_1$ : We have,  $\frac{N}{4} = \frac{543}{4} = 135.75$ Cumulative frequency just greater than 135 is 196, and the corresponding value of the variable is 40. Lower Quartile  $Q_1$ =40

イロト イヨト イヨト イヨト

3

Xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Computing  $Q_1$ : We have,  $\frac{N}{4} = \frac{543}{4} = 135.75$ Cumulative frequency just greater than 135 is 196, and the corresponding value of the variable is 40. Lower Quartile  $Q_1$ =40

#### Computing $Q_2$ (Median):

3

イロト 人間 ト イヨト イヨト

			40				
f <sub>i</sub>	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Computing  $Q_1$ : We have,  $\frac{N}{4} = \frac{543}{4} = 135.75$ Cumulative frequency just greater than 135 is 196, and the corresponding value of the variable is 40. Lower Quartile  $Q_1$ =40

Computing  $Q_2$  (Median): We have,  $\frac{N}{2} = \frac{543}{2} = 271.50$ 

3

イロト 不同 トイヨト イヨト

			40				
f <sub>i</sub>	3	61	132	153	140	51	3

Xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Computing  $Q_1$ : We have,  $\frac{N}{4} = \frac{543}{4} = 135.75$ Cumulative frequency just greater than 135 is 196, and the corresponding value of the variable is 40. Lower Quartile  $Q_1$ =40

Computing  $Q_2$  (Median): We have,  $\frac{N}{2} = \frac{543}{2} = 271.50$ Cumulative frequency just greater than 271 is 349, and the corresponding value of the variable is 50.

э.

イロト 人間ト イヨト イヨト

Xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Computing  $Q_1$ : We have,  $\frac{N}{4} = \frac{543}{4} = 135.75$ Cumulative frequency just greater than 135 is 196, and the corresponding value of the variable is 40. Lower Quartile  $Q_1$ =40

Computing  $Q_2$  (Median): We have,  $\frac{N}{2} = \frac{543}{2} = 271.50$ Cumulative frequency just greater than 271 is 349, and the corresponding value of the variable is 50. Middle Quartile  $Q_2 = 50$ .

3

イロト 不得 トイヨト イヨト

	-			50			
$f_i$	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Computing  $Q_1$ : We have,  $\frac{N}{4} = \frac{543}{4} = 135.75$ Cumulative frequency just greater than 135 is 196, and the corresponding value of the variable is 40. Lower Quartile  $Q_1$ =40

Computing  $Q_2$  (Median): We have,  $\frac{N}{2} = \frac{543}{2} = 271.50$ Cumulative frequency just greater than 271 is 349, and the corresponding value of the variable is 50. Middle Quartile  $Q_2 = 50$ . Computing  $Q_3$ :

xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3

Xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Computing  $Q_1$ : We have,  $\frac{N}{4} = \frac{543}{4} = 135.75$ Cumulative frequency just greater than 135 is 196, and the corresponding value of the variable is 40. Lower Quartile  $Q_1$ =40

Computing  $Q_2$  (Median): We have,  $\frac{N}{2} = \frac{543}{2} = 271.50$ Cumulative frequency just greater than 271 is 349, and the corresponding value of the variable is 50. Middle Quartile  $Q_2 = 50$ .

Computing  $Q_3$ : We have,  $\frac{3N}{4} = \frac{3 \times 543}{4} = 407.25$ 

◆□▶ ◆□▶ ◆三▶ ◆三▶ ・三 ・ つくで

Xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3

xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Computing  $Q_1$ : We have,  $\frac{N}{4} = \frac{543}{4} = 135.75$ Cumulative frequency just greater than 135 is 196, and the corresponding value of the variable is 40. Lower Quartile  $Q_1$ =40

Computing  $Q_2$  (Median): We have,  $\frac{N}{2} = \frac{543}{2} = 271.50$ Cumulative frequency just greater than 271 is 349, and the corresponding value of the variable is 50. Middle Quartile  $Q_2 = 50$ . Computing  $Q_3$ : We have,  $\frac{3N}{4} = \frac{3x543}{4} = 407.25$ Cumulative frequency just greater than 407 is 489, and the corresponding value of the variable is 60.

Xi	20	30	40	50	60	70	80
$f_i$	3	61	132	153	140	51	3

Xi	f <sub>i</sub>	C. F.
20	3	3
30	61	64
40	132	196
50	153	349
60	140	489
70	51	540
80	3	543
	N=543	

Computing  $Q_1$ : We have,  $\frac{N}{4} = \frac{543}{4} = 135.75$ Cumulative frequency just greater than 135 is 196, and the corresponding value of the variable is 40. Lower Quartile  $Q_1$ =40

Computing  $Q_2$  (Median): We have,  $\frac{N}{2} = \frac{543}{2} = 271.50$ Cumulative frequency just greater than 271 is 349, and the corresponding value of the variable is 50. Middle Quartile  $Q_2 = 50$ . Computing  $Q_3$ : We have,  $\frac{3N}{4} = \frac{3\times543}{4} = 407.25$ Cumulative frequency just greater than 407 is 489, and the corresponding value of the variable is 60. Upper Quartile  $Q_3 = 60$ .

イロト 不得 トイヨト イヨト ニヨー